it 2022 (A) @d | / y

SSC PART-Il (10th CLASS)

(WENERAL MATHEMATICS GROUP-| by - _;,,/ u"w 2
TIME ALLOWED: 2.10 Hours SUBJECTIVE ¢~ 2210 = =
MAXIMUM MARKS: 60 = AF
NOTE: Write same question number _c‘:_f;//)L):&_:_{_J’V‘,u’;:. L;)/:fﬂl/u v wd def sl

and its part number on answer book, as given in the question paper.
SECTION- (il

2. Attempt any six parts. 12=2x6 -égfa@lﬁélff{j‘adf _2/,}J!r
(i IfP(y):3y2+i—)+9,thenfind P(0) ek P(0) 3 P(y)=3y2+—ii+9 I
(i)  Define rational number and give example. ' ety St i)
(i) Express in simplest form /36,° &'gu‘u‘{'uzr‘if\/ﬁ (iii)
(iv) Factorize a’+ a — 3a’ -3 Fia-3-3 -E87 (W)
V) Factorize x'+ 27d' ¥ & g -_’i;:dfw (v)

(vi) Whether (x — 1)is a factor of 3x" — 2x” + 5x — 6 -g=¢# ¢ 426 3x' — 2x'+ 5x — 6 S x-DEY )

(vii) Find H.C.F of 12;73512, 8pzqrr3 12p q 3p qr _Z.pl”’(‘y (vii)

(vii) Find LC.Mof x’yz, xy’z, xyz x*yz, xy'z, xyz’ ,"q‘:(()?ji__ibblsj (viii)

(ix) Find the square root of 16x” + 24xy + 997 16x7 + 24xy + 9p? ~ZEpke  (ix)

3. Attempt any six parts. 12=2x6 _éfﬁ._«u.?ﬁlﬂﬁc,df 2340

(i)  Define linear equation with example. ,Z_;stlaiwf rsuf) (i)

i Selve —22 1y 10x 1 S )
3(2x +5) 3(2x+5)

(i) Solve 3(x—2)<2x+1 Ix-2)<2x+1 -&S i)

(iv) Define quadratic equation with example. _éjdt‘ml;é;.@/;JabL»d)m (iv)

(v) Find solution setof (x —3)" =4 (x—=3Y=4 -é(:"’-:«:d’ (v)

(vi) Solve by factorization 2x — 3 = 12, Dopss B o E duéd’df:.zu;y (vi)

¥ x
(vil) Define order of a matrix with example. _Ee sl ._@/7&;/1__){? {vii)
U o - [ 3 =

(viii) If B = |3 -4 I then find B! & BT Jn B = + A (iii)

[_—3 -2 | ' -3 -2

(ix}  Find matrix product {f =4 J [1 ~ } [2 -3 } [ bt } *.gi;‘p"”-,ﬂfw(uﬁﬁ' (ix)

I 2]lo -2

(’dﬂiﬁﬂ)



(

4. Attempt any six parts.

)

Vi)

vil)

viii)

5.(A)

54

Write down the equation for the given triangle and fin

Write down the angle marked with letters.

13§

Define the chord.

Draw an equilateral triangle with length of each side
Define perpendicular bisectors of the sides of a trilan
Define the tangent of the circle.

b=5 p=hl g=1

Find the third side of a right triangle with legs a and
Find the area of a rectangle 2m long and 18 cm wid

Find the distance between the given.pair of points.

(2)

SECT
NOTE: Attempt any three questions.
Solve xf 2 2x
x+1 x =1

Factorize x'* - "

FiNdHCF x*+ x*+1, x*+ x*+ x +1
Solve y*é+\/}_:0

Solve by using quadratic formula.

2
7
1 2
{34

Draw an isosceles triangle with

10x? - 5x =1
(4B) =

lr -1 =3
If 4= and B = then ver
IL 0

Let M = find MM

¥ 600 )
length of equal sides 5 cm and the angle included

Find the volume of a cube whose total surface are

Show that the points 4 (-1, 1),
B(3,2)and C(7,3) are collinear.

-U‘

el e x4+ ~uérﬁl”,/y'zlé
y=6+\Jy=0 &S

10x* = 5x =15 _.g’f;"‘dd'?c‘_.utf:»{uﬁw:

E
|

Qb KT 5 e Pl bl A UG
between them is 60"

ais 96cm’ -c_/"'LS &r 96 .:Jf {Lﬁ;:(r’”f&g(_{f
BAC (7,3) 4 B(3,2) «A(-11) beSEe

5
. Pt R 2 6
B'A' St B =l o A=
T 2 0
ify that ( AB) = B'A’

2
4

7

" 1
MM -_zj_fpbfm M =[3 A

- ' ? W F
dé_'/fa@!ﬁi!ﬂgc;d[ 45y

12=2x6
d the value of x. -5":’_:(,-“’43'4,( x /J.:,I;L»J&Lié’fb .(i)
A
v 9
el e 7 (i)
b (Vs
£/ (i
5.3 cm. #ldF5.3 &M@u&bmd’mﬁ (iv)
jle. e Ll e (v)
Ealuvlon i)
v ¢ bl b ca ﬁé(#ﬁj?&ﬁfslﬂf;fﬁ (vii)
b andhypotenuse ¢ . p=5 c=61, a=
3 e 18 (g 2 QS E RN i)
(2, Y343 &byl b65es  (iX)

()5

[TON-II (92
24=8x3 I felinlelvife ) oy
x1+ 2 l.x _'u:/Uo
51 a =l
xlz_y[:f. -U:/d;

()
(-6
(<)
(-7

()-8

()

(-9
(<)

34-2022(A)-5000 (MULTAN)



IPAPER CODE 2022 (A) T NAw
NGIBER: 3261 SSC PART-II (10th CLASS) CS,)/

GENERAL MATHEMATICS GROUP-I " - i....:.d/f U‘}LJ’J}Z
TIME ALLOWED: 20 Minutes OBJECTIVE 0‘3/?..0 e 20 = &
MAXIMUM MARKS: 15 15= Af

A L S5 oLl 1z Q:/’Uéfé_:z_t’édlrjf{(éb/g}lﬁ - SELE D s C B A 2zl s
42 {,.Jfru’! _{é_lppd.‘.‘l/{jfuf&.rﬂd/é_/ié JJ':_}J}F: _fﬁ;r‘;w.flﬁuyﬁ u:_u,MJi,ﬂ JoK L LfJu:jljo)EJng -ﬁ‘:
Note: you have four choices for each objective type question as A, B, C and D. The choice _q/;‘j’};;mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) An algebraic expression has _____ types. e tabyp  dagadl ()
(A} Two o (B) Three J (C) Four 1% (D) Five ég

(2) Thesymbol "/ " is called radical signofindex e ff-/j:fsiﬁag;.;/wuﬁjg "\/ﬁ" ol (2)
(A) 2 (B) % (C) 1 (D) Zero #

(3) Factorization of @' — 1 is: < a'-1 @

(A) (a®+1) (a+1) BY(a-1)(a’+1) (C)(a+1)(a’~1) D)(a-1)(a+1)a*+1)

(4) A cubic polynomial is of degree: _cc;lmqj)b’gx/éf&»/ (4)
(A) 0 (8) 1 (C) 2 (D) 3

(5) How many methods are there to find H.C.F? s SELL S ()
(A) 1 (B) 2 ©) 3 (D) 4

) LCMof 12p%¢?, 8p*is e SOk 12p°¢, 8p° (6)
(A) 24pg’ (B) 24piq (C}-12p’q (D) 24p°¢’

(7) The solution set of | x — 3| = 5 is: <« _ exfE|x-3=5 (0
(A) {8 -2} (B) {-8,-2} (C) {82} (D) {82}

(8) The number of techniques to solve quadratic equation are Y 0 ISW ST e (8)
(A) 1 (B) 2 (C) 3 (D) 4

(9) Matrix 4 be any square matrix if | 4] =0, -q_lvib.f A e |A|=0 A _ﬁ._.JL?d.’/Jf A (9)

then matrix 4 s called : (A) Non-singular matrix /6.7

(B) Symmetric matrix /6% (C) Singular matrix /6.t (D) Skew symmetric matrix /6, }f);C

(10) A straight angle contains: _‘Lt'ﬁ.:wb/ﬁ,ﬂ} (10)
(A) 90" (B) 180° (C) 270° (D) 360°

(11) An arc greater than a semicircleis called . -{-&ﬂf/______ Uuestbid (1)
(A) Major arc s,/ 7 (B) Minor arc »2%s#  (C)Chord s (D) Diameter &

(12) Everytrianglehas __aliitudes. Jrlstes _ Leky (12)
(A) Zero (B) One ] (C)Two s (D) Three ¢

(13) Areaofrectangleis . o ,,LKJ:":/ (13)
(A) £xb (B)%xéw (C)éx£+b (D) ¢2

(14) The co-ordinates of the origin are: “glnchwlir  (14)
(A) O (B) (1, 0) (C) (0, 0) (D) (0, 1)

(15) Solution setof (x — 2)* =4 is: e S¥(x -2) =4 (15)
(A) 12,6} (B) {0,6} (C) {6,2} (D) {0,4}

34(Obj)( 7Y )-2022(A)-5000 (MULTAN)



PAPER CODE
NUYBER: 3263

GENERAL MATHEMATICS GROUP-I
OBJECTIVE (/.2

TIME ALLOWED: 20 Minutes

2022 (A)
SSC PART-II (10th CLASS)

Z N /‘.}Ju

7 - u...._-d/’/ U‘aLJJ/"

2420 = =

MAXIMUM MARKS: 15

15= AF

y /L)/fl:_'&li'*‘dl&f&_.,lf&ﬁwu. nuw_f‘fu;anﬂ)lwm@w LD s C B AWl 2
{24! Kokl )U""/vyjﬁjrdd._, £ J’._,' 5l €rzr‘b,h...i:’u;rAJ”_, o SE L S L a_./’/fu;/ba Le ol 223

Note you have four choices for each objective type question as A, B, C and D. The choice -Jf J’)?_.,Ulr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1
(1) How many methods are there to find H.C.F?
(A) 1 (B) 2
(2) LCMofl12p'q®, 8p"is
(A) 24 pg’ (B) 24p'q
(3) The solution setof |x —3|=5 is:
(A) {8, -2} (B) {8 -2}

(4) The number of techniques to solve quadratic equationare

(A) 1 (B) 2

(5) Matrix 4 be any square matrix if ! A\ =1, _g.rj,lff

then matrix 4 is called
(B) Symmetric matrix 5%
(6) A straight angle contains:
(A) 90° (B) 180"
(7) An arc greater than a semi circle is called

(A) Major arc m{g’;

(8) Every triangle has altitudes.

A) Zero # (B)One
(9) Area of rectangle is

(A) ¢ xb (B)%x(:’+b

(10) The co-ordinates of the origin are:

(A) O (B) (1, 0)
(11) Solution setof (x —2)" =4 is:
(A) {26} () {0.6}
(12) An algebraic expressionhas __ types.
(A) Two (B) Three g;f
{13) The symbol "\f‘_ " is called radical sign of index
(A) 2 ® -
(14) Factorization of ¢* — 1 is:

A) (@*+1)(a+1)  (B) (a—1)(a’*+1)
(15) A cubic polynomial is of degree:

(A) 0 (B) 1

(C) Singular matrix /¢t

(B) Minor arc a;f‘g;"

(C) (a+1)(a’~1)

._1 /dlr
B SELL P ()

(C) 3 (D) 4
e Pk 12p°¢%, 8pF (2)
(C) 12;)2(; (D) 24 p'g*
e e¥x-3l=5 @)
(C) {82} (D){-8, 2}
_\_:é_r'_/l' Z:L/:ﬁ'r;«lji/-'jﬂu (4)

(C) 3 (D) 4
A5 [A|=0 Jiade@ df 4 v (5)
(A) Non-singular matrix /5.t #
(D) Skew symmetric matrix o5/ %%~
-:‘:..i:‘:fg,u(,/?:/,_._nfj (6)

(€) %208 (D) 360°
-LLL:L'L‘?(___ Uiteibaid  (T)
(C) Chord 7 (D) Diameter 4
“gEwbba  Laly o (8)
(C)Two & (D) Three ¢£
e 3T
(C) %xmb (D) #°
3
_plnehelie  (10)
(C) (0, 0) (D) (0, 1)
e f¥ (x-2) =4 (1)
(€)16,2] (D) 10,4}
et lgAd (12)
(C) Four 4 (D) Five &}
- ____Jgilﬁu”’-q:aywo% e (13)
(C) 1 (D) Zero #

e $A at-1 (14)
(D) (@a—1)(a+1)(a+1)
kA (15)
©) 2 (D) 3
34(0bj)( T 17 )-2022(A

)-5000 (MULTAN)



PAPER CODE 2022 (A) A

NGMBER: 3265 SSC PART-Il (10th CLASS) | 6?/

GENERAL MATHEMATICS GROUP-| ke oo/ 7
TIME ALLOWED: 20 Minutes OBJECTIVE u:fs/‘:ﬂ w20 = oy
MAXIMUM MARKS: 15 15= Af

A o L S0 300l e S uuué.r,.m:.widirﬂdb’dr; -ULE D sICBA ezl vy s
/;f.J'rJ {"_.LVL:JJ/"J:(J._.»A‘JLI )(J!/” gfj!‘”ﬂﬂ-z'fu:ﬁ .._.u:‘Jl_,ff .r'/\...b/ L A.f‘;fu:/butm_..f i:
Note: you have four choices for each objective type question as A, B, C and D. The choice _u‘/ J’/f}-mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Anarc greater than a semicircle iscalled . -9(“}1}:(_ Ve Hid (1)
(A) Major arc o9 (B) Minor arc »24/7  (C) Chord s (D) Diameter 4

(2) Everytrianglehas _ altitudes. Sl Lak ()
(A) Zero # (B) One I (C)Two » (D) Three &

(3) Areaofrectangleis . = IO JJS’J};‘ (3)
®) exb ® 3xf+h  (©3xf+h @) F

(4) The co-ordinates of the origin are: S lnahitliar  (4)
{A) 0 (B) (1, 0) (C) (0. 0) (D) (0, 1)

(5) Solution setof (x — 2)* =4 is: e ¥ (x-2) =4 (5)
(A) {2,6} (B),{0,6} (C) {6,2} (D) 10,4}

(6) An algebraic expression has | “types| P () 7 SO )
(A} Two 1 (B) Three L,t.* (C) Four Jg (D) Five ég

(7) Thesymbol ",/ " is called radical sign]ofindex ey S ___ﬁ,t-l(f;ayw&@ nJ e (7)
(A) 2 (B) 5 (C) 1 (D) Zero 4

(8) Factorization of ¢* —1 is: -ai,dfﬂff s | (8)

(A) (@+D)(a+1)  (B) (a-1)(a’+1) (@) (a+1)(a*~1) ONa-1)(a+1)a+1)

(9) A cubic polynomial is of degree: -{_t‘n_?J:KL?;/ffd»,x (9)
(A) 0 (B) 1 (C) 2 (D) 3

(10) How many methods are there to find H.C.F? i L i..fp“’(%lp (10)
(A) 1 (B) 2 (C) 3 (D) 4

(1) LCMof 12p°¢%, 8p%is . e Pl 129762, 8p2 (1)
(A) 24 pq’ (B) 24p'yq (C) 12p%q (D) 24 pq?

(12) The solution setof |x —3|=5 is: e _enf¥|x-3|=

I £8 =2} {B) { -8, -2} (C) 18,2} D) {-8,2}

(13) The number of techniques to solve quadratic equationare . -Ji &p__ LL/J’I@L»&»» (13)
(A) 1 (B) 2 (C) 3 (D) 4

(14) Matrix 4 be any square matrix if | 4| =0, -.;_L"L'vf A e | 4] =0 /i -ﬁ@@(ﬂ/é/ 4 Ji (14)

then matrix 4 is called N (A) Non-singular matrix 6t

(B) Symmetric matrix /6% (C) Singular matrix /st (D) Skew symmetric matrix ..Jb/¥F |

(15) Astraight angle contains: _g_t‘yf_;ub’,,/}"/,su (15)
(A) 90" (B) 180° (C) 270° (D) 360°

34(0bj)( I I¥ I )-2022(A)-5000 (MULTAN)



PAPER CODE 2022 (A) P Y

NUMBER: 3267 SSC PART-lI (10th CLASS) é)

GENERAL MATHEMATICS GROUP-| 1J7~; - h.;;j f&;dﬂ
TIME ALLOWED: 20 Minutes OBJECTIVE u:‘é/”,a? 2420 = o
MAXIMUM MARKS: 15 15 = /:Ui/

At SISl reene Jh s Ese L vy 38017 L r£E s D s C B A sl Ly LS
{2 {31 _{LBL)V{/JIJ:QJKJLLJ: ![j:}f: -fx/ﬁﬂvlﬂazﬁufaJﬂJqu So¥ L d:../q:{);}l)ugja._..{f A
Note: you have four choices for each objective type question as A, B, C and D. The choice ﬂg,[/'::;fﬂz:,ﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /fUly

(1) The co-ordinates of the origin are: S Lnehslier (1)
(A) O (B) (1, 0) (C) (0, 0) (D) (0, 1)

(2) Solution setof (x —2)" =4 is: e ¥ (x-2) =4 (2
(A) {2,606} (B) 10,6} (C) {6,2} (D) {0,4}

(3) An algebraic expressionhas ___ types. _c__:_t':fb/f//’ o J’.d/:{u:/l (3)
(A) Two 5 (B) Three (C) Four J (D) Five &

(4) The symbol \f is called radical sign of index . . _in-lﬁﬁc,ymﬁjy n S el (4)
A) 2 (B)% () 1 (D) Zero

(5) Factorization of a'— 1 is: -c[-tff-zd/ o= | (5)
(A) (@' +1) (a +1) B)(a-1)(a’+1) (©)(a+1)(a*=1) O(a-1)(a+1)(a+1)

(6) A cubic polynomial is of degree: -.f‘_--bﬁ.p;s"_?j/?b’.», (6)
(A) O (B) 1 (C) 2 (D) 3

(7) How many methods are there to find H.C.F? T, )&Z&Lx?ﬁ’(ﬁblﬁ (7)
(A) 1 (B) 2 (C) 3 (D) 4

(8) LCMof12p%q?, 8p*is___ . e SO 120767, 8p* (8)
(A) 24 pg* (B) 24p’q (C) 12p°q (D) 24p°¢*

(9) The solution setof |x —3|=5 is: < enf¥|x-3]=5 (@
(A) {8, -2} (B){ -8, -2} (C){8,2} (D) {-8,2}

(10) The number of techniques to solve quadratic equationare . _t&/f Lo S atiann  (10)
(A) 1 (B) 2 (€) 3 (D) 4

(11) Matrix 4 be any square matrixif | 4| =0, -;.L“lhf A A =0 eSS A 5 (1)

then matrix 4 is called . {A) Non-singular matrix .,f“.i'»t/f

(B) Symmetric matrix /6% (C) Singular matrix /&t (D) Skew symmetric matrix b_JG'J/S;C

(12) Astraight angle contains: ek (12)
(A) 90 (B) 180° (C) 270° (D) 360°

(13) An arc greater than a semi circle is called g‘a(}li#/_____ UiSkesibaid  (13)
(A) Major arc a/:fq; (B) Minor arc a/f”qf (C) Chord 7 (D) Diameter )z’

(14) Everytrianglehas _ altitudes. alallbs  Lely (14)
(A) Zero (B) One {I (C) Two o (D) Three &

(15) Areaof rectangleis . R ,}/KJ}D (15)
®) ¢xb DENIRY: © 1xt+b ©) ¢

34(0bj)( T¢ 7¢I I¢)-2022(A)-5000 (MULTAN)



2022 (A)

SSC PART-lI (10th CLASS)

GQIERAL MATHEMATICS GROUP-II
SUBJECTIVE

TIME ALLOWED: 2.10 Hours

#2210

MAXIMUM MARKS: 60

NOTE: Write same question number

,:flfjf.ﬂ?
60 =
-4"_@J}J::E;.{,Jfrﬂéaﬂﬂﬁz.ulffwfﬁj{.Lé{df:?

and its part number on answer book, as given in the question paper.

2. Attempt any six parts.

(i) Define rational expression with one example.

¥p o~ 5%

(i) If P(x)= then P(2)=?

(i) Simplify 2 + /8

(v) Factorize x*+ y - xy —x
(v) Factorize 8x*— y‘1

(vi) FindH.C.F. abxy, a’be

(vii) Find LCM. x*yz, y'xz, zyx

(viii) Find square root of 16x° + 24xy + 9y°

(ix) Resolve into factors x>+ 6ax + 9a’® - 16b*

3. Attempt any six parts.

() Solve 2Zx—-1>5
y !

(i) Solve 3x + 5 =2-x

(i) Solve |x+1|=5

(iv) Define Law trichotomy for inequalities.

(v) Solve (2x+1)(5x-4)=0

(vi) Solve 2x’=3x

vii)  Define row matrix and write one example.

12 6
(vii) Prove that 4 ={ 6 3} is singular matrix.

(ix) Find A' if A{ 3 4}
-1 4
((i' U )

SECTION- i

12=2x6
-q_’:dt‘»thJl ?g‘;JL,#L;(c_.EJb';

2 — =
P(2)=2773 p(x)=i‘_i_6_5£ Pr
x +1

2 +48 _ZH

W4y -xy—x -GE6f

8x' -yt U

abxy, a*bec -ér}"(yl;&

yz, yixz, zyx -_é’(}”dsf._iuf»‘

16x + 24xy + 9y* _ZE e

X'+ 6ax + 9a’ = 166° &bl A2

12=2x6
2x-1>5 &S
3x + -;; =2-x &S
|x+1]|=5 =S
__Z_:._éf/)'d/gju“uﬁi?_iiu?buff
(2x +1)(5x - 4)=0 -&JS
2xt=3x -2
_"gjdl/‘ugjiséh.&’/;jJJGdlw
et A m[lz 6} Sy Sk
‘ 6 3
RN

m b

Iy - !—/3/ (flud/

=
AF

.
kit

-Jégfouﬁﬁﬁzigc—_ﬁf -2/-_‘Ulr

(1)

(ii)

(i)

(iv)

{viii)

(ix)

-égfal:lﬁzil'f.’lgcgj/ -3/-,;",’1:'

(i)

(i)

(i)

(iv)

(V)

(vi)

(vii)

{viii)

(ix)



0
i)

Vi)

vii)

(vill

(ix)

5.(A)

+. Attempt any six parts.

Define supplementary angles with example.

Find the value of angles "¢" and "d"

A

(2)
2=2x6

F

el 3 ad)y

-QJJL'E‘Jﬂé...éJjJéJUd/N“ﬁ/‘_ (i)

w

Define concentric circles.

Define the tangent to the circle.

mAB = 1

\’><’<5°
35 R
—s
d

Draw an equilateral triangle ABC inwhich mAB = mBC = mCA = Sem

State the pythagoras theorem.

Find the area of triangle whose base = 8 cm,

altitude = 15¢cm

Define collinear points.

Describe the location of ( 3, 6) on the number plane.

SEGTIONII /5.2

NOTE: Attempt any three questions.

Find the value of ¢’ + »* and ab
whena+b=35 and a-b=3

a

EeedS ko g

24=8x3
b =3 bl a+b=5,?_érr°’&é.b( ab # o'+ b’

B0 i/ k-2 P(x)=3x+kx-26 /

If P(x)=3x"+kx — 26 isdivided by x — 2 .[Find % if remainderis 0.
impli b ! ab a+b 1 ab py:
Simpli s S, S _ ~ EA
pfya2+ab+b2+afb a- b a+ab+b a-b a-b "
Solve m—13=Jm +7 m-13=Jm+7 &S
Solve by using quadratic formula. 10x’ - 5x = 15 10x2 = 5x =15 -g{fc_u{};{dn»
|4 2 2] L [-1 2 A{a 2] BJ 2 i_’C:[—l 2} 2
IfA_'[D 0}’ i 4}' C‘[ 4 21 0 0 "T-2 4 4 2]7
then find (AB) C _"ér,i.v(AB) C W
0

2 0
M{
=] 3

Construct a rectangle whose one side is 6 cm
and an adjacent diagonal is of 9 cm.

} then showthat 47'4 =1

Find the volume of a cone with altitude 9 cm and

radius of base 6 cm.

_Jggmf_wwm@p_{f
)

Show that the points 4 (2, -5), B (-4, -3
of an equilateral triangle.

. 2 .
A =1SE i 4 :( } A
-

RS 9 e 6 BN e

3

y Z.j ,,lsf,{!f 6 JIJ;KJL?»J( 9 dﬂ,d/fb:}-ﬁ

C(=1,5) # B(=4,-3) <A(2,-5) 5SZEot
and C (-1, 5) are vertices

- :/uk.:‘:«;ft&.ﬁ’
PR T P ol YA N 0

Ay
(3, 8) S

i} :)%er:'y_’b( "ol el (i)

Sl s i
_"é_@fjd/u’bf(a}b
WBC = mCA = X§* 5 LU &-be ABC 2Lfeiifslat]

(iv)
(v)

(vi)
(vii)

(i)

(ix)

..éf:’{/“al:fﬁf.a U’fdc:.. (j[ et

(-5

(o)

(-6
()
(N7

(o)
()-8
()

(-9 |

) )/

| 36-2022(A)-4000 (MULTAN)
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PAPER CODE
Nw\NBER: 3262

2022 (A)
SSC PART-Il (10th CLASS)

GENERAL MATHEMATICS GROUP-II

L - ....:A/ (f _L.Jd/?
OBJECTIVE ($.2 3

TIME ALLOWED: 20 Minutes 020 =
MAXIMUM MARKS: 15 15= 4F
Ao b ISPl IR 0siEl & s bl M 36012 o2 E D sl C B A izl L o

.__(_;{___Jfru’! _gng&Jﬂ;Jéfuﬁ;Jr"grd._L,; !:JJJ;'.- _fnJr“ijl_._.lf‘:u:Qu:_:u"Jé_./z Py L d‘.../’:‘;;r’g_,hjbu_‘.:i‘:_»_-p N
Note: you have four choices for each objective type question as A, B, C and D. The choice -‘_{JQL}’}CQG’JH'!"
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Surds can be multiplied if they are of the: -:um:ﬁ -.;..Csc lgd;.__,ﬁf("lpw» (1
{A) Same orde'r J,,wulfg (B) Order 2 $.e (C) Different order Juzu_ai'f (D) Order n J n o |

(2) lfP(y):3y2+%+9thenfind P(0) _Shek P(O) Pn P(y)=3yz+ii+9 Ji (2)
(A) 3 (B) 6 (C) 9 (D) 12

(3) A cubic polynomial is of degree: -cE_VﬁgJJE/L}J/?/L;J)/ (3)
(A) 0 (B) 1 (Cj 2 (D) 3

(4) Factorize (27x" +1) _u"f)’dx;J(Z'f’x" +1)  (4)

(A)Y(Gx+1) (9% +3x +1) (B)(Bx+1)(9x°+3x - 1)

L.C.M edz
s L X H C_ -9
First expression

_HCFxLCM
ey

[d

RWAE

(C)(Bx +1)(9x*=3x+1) (D) (Bx—1)(9x*-3x+1)

()

(A) Second expression i+ (B) 1 (C) HC.F ;‘E’l;t (DyLC.M J""I.JL#I;:'

(6) H.C.Fof 2lab’and 14a’bcis: ,q_;ﬁ’uw 14a’be s 21ab®  (6)
(A) 2lab (B) Fab (C)ldabe (D) 7abc

(7) The symbol 2 stands for: -c‘_&);;li z ok @
(A) Greater than <1z« (B) Greater than or equal to < slzle %
(C) Less than or equal to 94'49%:{;. (D) Equal to f_/:ff.é

(8) fa<60 and 60<ph thena b a___bjeo<h »a<60 /i (8)
(A) > B) = (C) < D) =

(9) Factorize (x* - 16) LLSAS (xF=16)  (9)

(A)(x=2)(x+2) (B)(x=2)(x+2)(x-4) (C) (x-2) (D) (x=2)(x+2)x*+4)

10} In a unit matrix diagonal elements are: -ujl..ﬁuﬂ[.hﬁﬁjt?&lﬁ@ﬂ.g (10)
(A) 2 (B) 3 (C) O (D) 1

(1) InMatrices (4B)" = (ABY ' =  Jtuds (1)
(A) B4 (8) B4 (C) BA™ (D) A™'B™!

(12) If two angles are supplement of the same angle they are: ‘Lg:_,«,,?un.u%f[.é.,w_@"_,r;»ﬁ (12)
(A) Equal s~ (B) Unequal $strs (C) Adjacent angle & si.le* (D) Transversal angles <lihls

(13) Aline joining one vertex of a triangle and perpendicular to -g.t‘ll-ﬁ':rﬁ;buuwc:-u’biiﬁ (13)

its opposite side is called:

(A) Angle bisector —ietl sl (B) Median _:l-s (C) Altitude {15/ (D) Side bisector Jﬂth‘b

(14) Area of an equilateral triangle with side 'a" is: R S X el (14)
(a) 5bh ®) bh 6] 217 o B

(15) A point in the 4th quadrant has its ordinate: e bredfessiLElusthés (15
(A) Positive =t (B) Negative ¢ (C) Zero (D) One I

36(0bj)( I )-2022(A)-4000 (MULTAN)



PAPER CODE
NUMBER: 3264

GENERAL MATHEMATICS GROUP-II
OBJECTIVE (.o

TIME ALLOWED: 20 Minutes

2022 (A)
SSC PART-II (10th CLASS)

A

72
7
- on) FLJ2

e 20 -

MAXIMUM MARKS: 15

A ofE L _/CL)C}‘J.-EWCJ{&"L-_.JUZU/JLLI: ._,‘:/’J‘JLf‘é_J&.L«‘é:d'rﬁ{(éﬁ_}lﬂ ...\‘-}M?'ggf_._J D s CB A .:al:'ﬁj;l:-é:g,"fﬁ

5= AF

. e

g2ggdrut - .ﬁ__la.t_.:giffw‘,_}_{j-f.:ur"gﬂ.__):f, :@:ﬁu W&J,ﬂ?w.fmw&w._wﬂ&?_& prs L d',_/’/.éfu;}f;ut_vjc_,_-g )

Note: you have four choices for each objective type question as A, B, C and D. The choice

_._,_._’LJPJ{:.-_”.«UIV

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Area of an equilateral triangie with side '¢' is:
(A) %bh (B) bh
(2) Apointin the 4th quadrant has its ordinate:
(A) Positive .3 (B) Negative (¢~
(3) Surds can be multiplied if they are of the:
(A) Same order J,»»ut{ (B) Order 2 (.o

If P(y)=3y"+ % +9 then find P(0)

(A) 3 (B) 6
!5) A cubic polynomial is of degree:
(A) O (B) 1
(6) Factorize (27x+ 1)
(A)(B3x +1) (9x*+3x + 1) (B) (Spmbu) ( 97+ 3x — 1)
@) L».C.M X H.C.-F =9
First expression
(A) Second expression Ml (B) 1
(8) H.CFof 21ab’ and 14a’hc is:
(A) 2lab (B) 7ab
(9) Thesymbol > stands for:

(A) Greater than < %<
(C) Less than or equal to & slzle bfc

1 /,}Jlr

 ctiik a éi@f:-ﬁcwmd;u )
© £ ® =
e bnedfes il Bty (2)
(C) Zero 3 (D) One
cumll e Feb A (3)
(C) Different order Juzni¥ (D) Ordern ¢ n
S P(0) I P(y)=3y"+ f +9 S @
(C) 9 (D) 12
e bk B (8)
(€) 2 (D) 3

SRS (270 + 1)
(Cy3x+ 1) (W =3x+1) (DY(3x = 1) (9% =3x +1)

(6)

H.C.F x LC.M
T e W
(C) HCF Al D) LCM Fiibshs;
I 14a%be ) 21ab?  (8)
(C) 14abc (D) 7abc

-4;.&/};'.!; > =rlk

(B) Greater than or equalto < sl Iz
(D) Equal to < 4LeL

(10) fa <60 and 60 <p then a_ b a__ b i60<ph Ha<60/ (10)
(A) > (B) = (C) < D) =
(11) Factorize (x* - 16) -L):/rdf."d/(f— 16) (11
(A (x=2)(x+2) (B) (x=2)(x+2)(x~-4) (C) (x-2) (D) (x=2)(x+2)(x*+4)
(12) In a unit matrix diagonal elements are: -uflﬂuﬁ’ﬁifﬁuﬁ-—f’ﬁ&':'dfug (12)
(A) 2 (B) 3 () 0 (D) 1
(13) InMatrices (A4B)'= (AB)"' = uds (1)
(A) B 4™ B) B4 () B4 (D) 4B
(14) If two angles are supplement of the same angle they are: _g_,gi_ms?unc.x%‘af.é.;ljd_ﬁa”_ sU»)’? (14)
(A) Equal st~ (B) Unequal $sb7 (C) Adjacent angle < siilé* (D) Transversal angles < /i
(15) Aline joining one vertex of a triangle and perpendicular to s rlk’jfgcl{-ﬂl?c-uf‘!ii& (15)
its opposite side is called:
(A) Angle bisector —i®(§ sl (B) Median _:l-s (C) Altitude { @t (D) Side bisector ths’cu

36(0bj)( I 3¢ )-2022(A)-4000 (MULTAN)



PAPER CODE
NUMBER: 3266

GENERAL MATHEMATICS GROUP-II
OBJECTIVE (572

TIME ALLOWED: 20 Minutes

2022 (A)
SSC PART-II (10th CLASS)

oy

Zam
e/
lras - 5._,«3/ f&JJ/

220 = o

MAXIMUM MARKS: 15

15= AF

Ao b b SN ol N2 rsse S s L it L i QB P D ) € B A 2Rl vy Y
s eyl _ff__b_g)uﬁ;-‘\gfu:_plf\;&_fa‘c J(JJ}U —{ﬂ)f“'}bﬁuﬁalﬁalﬁgﬁ#,;ﬂd/i,—)’/: Py L L/f:afua_?ln:y)c_ug 2=y

Note: you have four choices for each objective type question as A, B, C and D. The choice

ISP O e

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) The symbol > stands for:

(A) Greater than < 1%«
(C) Less than or equal to < life b
(2) fa<60 and 60<ph thena b
(A) > (B8) =
(3) Factorize (x' —16)
(A (x=2)(x+2) By(x-2)(x+2)(x-4)

(4) In a unit matrix diagonal elements are:

(A) 2 ®) 3
(5) InMatrices (AB)' =
(A) B4 ®) B4

(6) If two angles are supplement of the same angle they are:

(A) Equal (s (B) Unequal (§ste

(7) Aline joining one vertex of a triangle and perpendicular to

its opposite side is called:
(A) Angle bisector «#l¥.s0  (B) Median -
(8) Area of an equilateral triangle with side 'g' is:
(B) bh
(9) Apointin the 4th quadrant has its ordinate:

(A) Positive .= (B) Negative §”
(10) Surds can be multiplied if they are of the:

1
A) —bh
A 5

(A) Same order onulf

(1) If P(y)=3y2+§+9 then find P (0)

(B) Order 2 (.o
(A) 3 (B) 6
(12) A cubic polynomial is of degree:
(A) 0 (B) 1
(13) Factorize (27x"+1)
(A) (3x + 1) (9% +3x + 1)

LCMxHCF _ .
First expression '

(14)

(A) Second expression Ll (B) 1
(15) H.C.Fof 21ab® and 14a’bc is:

(A) 2lab (B) 7ab

(C) Adjacent angle <.k

A Ay
el 2 e (1)

(B) Greater than or equalto < slsle 12
(D) Equal to < 4L

a b }60<bma<60)’l (2)

€) < (D) =
LASFE (K-16) (3
(C) (x-2) (D) (x=2)(x+2)(x*+4)
LRI AL ()
(€) 0 (D)1
(AB)' = Jud6  (5)
(€) BA” (D) 47'B"!

-L,EL%!J?U!E%L{.}'}L?\,Q{_:U:J/ﬁ (6)
(D) Transversal angles &sliJs\F

e b e L ek (7)

(C) Altitude {15,/ (D) Side bisector _it§ ¢
ctnikn 'a' CRALELEISL  (8)

v 2 3
(C) \!34.51 (D) \Eza
e lnedlesiLoivrtés @
(C) Zero (D) One I

cun e Feba A (10)
(C) Different order u(u;?u.i‘»? (D) Order n J n 2
Ep P(0) n P()=3y1e 249 S )
(D) 12
e bk $ G (12)
(D) 3
JAEST 1) (19)

(B) 3x +1)(9x*+3x-1) (C)(Bx+1)(9x*=3x+1) (D) (3x -1)(9x*-3x+1)

H.CFxLCM
P Tl 6 LOAN
; Trae (14)
(C) HCF it (D) LCM FIibsts;
e (Ph6K 14a’be 1 21ab’ (15)
(C) 14abc (D) Tabc

36(0bj)( < IX 1< )-2022(A)-4000 (MULTAN)



LN A
6t

Iy 2 =7 (j'a QJJ/’

2022 (A)
SSC PART-Il (10th CLASS)

PAPER CODE
NUMBER: 3268
GENERAL MATHEMATICS GROUP-II

TIME ALLOWED: 20 Minutes OBJECTIVE (%> 2 20 = =
MAXIMUM MARKS: 15 15= Af

P W ST O T P vl s L M p Q612 _p L L D el € B A SN ity [ R
L2l —fi.k)giufff!}(jlu;ux;"d?_.&.;: JJ:,M}': ~?’J71."JHWTIJ:-5J}{:£J:GJJ”¢/£_../‘2 Ay L .i_f/f,fu,/’r_m_uc___{l “&:

Note: you have four choices for each objective type question as A, B, C and D. The choice _u_f./f;d’}[‘;:.:.wr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fiil the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1

A Ay

(1) Acubic polynomial is of degree: - rﬁgJJE’&J.g/‘:‘J/L;;:,/ (1)
(A) O (B) 1 (C) 2 (D) 3
(2) Factorize (27x" + 1) SRS+ ) @

(A) (3x + 1) (9x7+3x+1)  (B)(3x + 1) (9x>+ 3x — 1)

CYBx+ D (9x*-3x+1) (D) Bx = 1) (9x*=3x +1)

5 LCMxHCF_, ( HCExLCM o
First expression o My

©

(A) Second expression il (B) 1 (C) HCF At D)LCM Piiibsty

(4) H.CFof 2lab’and 14ahc is: e PWeK 14d’be 1 21ab®  (4)
(A) 21lab (B) 7ab (C) 14abe (D) 7abc

(5) The symbol > stands for el 2 ek (5)
(A) Greater than %« (B) Greater than or equalto « slsle fe |
(C) Less than or equal to <l esisfe (D);Equal to < Kzl

(6) ifa<60 and 60<h then a b @ bje0<hsa<60)i (8
(A) > (B) = (C) < (D) =

(7) Factorize (x'-16) SJASAS (x-16) (@)
(A)(x=2)(x+2) (B)(x-2)(x+2)(x-4) (C) (x -2)° (D) (x—2) (x+2)(x*+4)

(8) In a unit matrix diagonal elements are: wgi.xu(ﬂiﬁ;uf@t?[}l;‘@/ﬁ.{l (8)
(A) 2 (B) 3 (C) 0 (D)1

(9) InMatrices (AB)'= (AB)Y ' =ty
(A) B4 (B) B4 (C) B4™ (D) 4B

(10) If two angles are supplement of the same angle they are: _uij:}uﬁ..‘.»":g‘Zg :Udzugé.gljufl (10)
(A) Equal (s~ (B) Unequal L,‘sl//f (C) Adjacent angle < sk (D) Transversal angles & sl

(11) Aline joining one vertex of a triangle and perpendicular to il tlkgf;éj_ﬂ@aw;ﬁ:;ﬁ (11)

its opposite side is called:

(A) Angle bisector it/ (B) Median _:l-s (C) Altitude {6 (D) Side bisector it

(12) Area of an equilateral triangle with side ' is: ~etnifn 'a’ diﬁﬁ:,lf‘cuhﬂldsv (12)
(A) %bh (8) bh (©) ii‘i (D) 3’92—”2—

(13) A point Tn the 4th quadrant has its ordinate: _c:..&ﬁu:‘éd/&_{ﬂﬁ[_ﬂghuféxéf, (13)
(A) Positive =4 (B) Negative (C) Zero (D) One (i

(14) Surds can be multiplied if they are of the: _:um;fl _.:L:_Gttgd:.,,ﬁ{f“’i“/;l} (14)
{A) Same order d:_mub_f (B) Order 2 S.ns (C) Different order d/u;?n._'if? (D) Order n J n 2

(15) HP(p) =3y’ + f + 9 then find P(0) LS P0) Fr P(y)=3y"+ ff +9 S (15)

(A) 3 (B) 6

() 9
36(0bj)( ¥ T T I )-2022(A)-4000 (MULTAN)
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